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MS. KLIMCZUK – AP STATISTICS

Extrapolation: Reaching Beyond the Data

The U.S. Census Bureau reports the median age at first marriage for men and women. Here is a part of the computer output for the regression of median Age (at first marriage) for men against Year (since 1890) at every census from 1890 to 1940.
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1. What is the equation of the least squares regression line?

2. What would the model predict as the age at first marriage for men in the year 2010?

3. In the year 2010, the median Age at first marriage for men was 28.2 years. What’s gone wrong?

4. Here is the scatterplot for the years 1890 to 1940 and the scatterplot for the years 1890 to 2020.
Compare the two scatterplots. Explain why extrapolation would be dangerous in this scenario by analyzing the graphs.
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Predictor	Coef		StDev		t-ratio		  P


Constant	25.7		  0.5		    6		0.00


Year		-0.04 		12.03		   1.2		0.00





R-squared = 92.6%	  s = 0.2417 








